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1) /KA : #ET21.0~225 C, JKET19.2~21.5 CO#MAIIH -7,

2) 5y KB T 31.2~33.3, EJET33.6~34.1 DFHICH T,

3) pH: 7.8~81 OFiHIZH YV, RN TKEMAKILEE (7.8~84) #ifil-L T,

4) COD : 0.1 Kjiii ~ 0.8 mg/L OFFIZH Y, Al CKRERKIERE (BAEMENE : 2 mg/L LIF)
Zii 7z LT,

5) DO : 3.7~ 9.3 mg/L OFHIZH Y, St.1 Kl OKZE 5m, JEfE), St.248-, i/ (EKkE), St.3
E OKIE 10m, JEE), St4 H0R (ERE), Stb VR OK%Esm, JEE) St.7 HmHE (k
Y 10m) TKRPFEAKE®E (6.0 mg/L LLE) ZHi7-L T\ iRihoT-,

6) 777 FUEREIL 1.3~ 8.8 ml/m DFFHICH > T,

7) MRS . AT EIXLL T O®ENICH - T,

U e > (POs-P) : 2.0 ~ 38.2 pg/L
7rE=TEESH (NHN) : 1.2 ~110.9 pg/L
HAEEREZE R (NO:-N) : 0.1 A ~ 26.3 pg/L
iHlEREZ= 3 (NOs-N) : 0.1 A¥i5 ~ 31.4 pg/L
(ZRB=FX 1.6 ~ 134.1 pg/L)
KRR LT BT BER, WHBEER, MREBEROGI T,
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